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07

   drawing the axes of symmetry correctly 2 
02. set   1
 Elements  1      2
03.     25-20 = 5  1      2
04. 2 × 3 = 6  2
05. 2 × x × y × y
 2 × 1 × 5 × 5 1
  50  1
06. 
    1

   (-1) 1
07. square pyramid  2
08. fair coin 1

 Regular tetrahedron 1

 (if there are answers that do not belong to 
 the two correct answers, only one mark)
 

09. 0.12   2

10.    0.355g      or    355mg  2

11.    V + F = E + 2 1
  E = 16  1

12.    2

13.       2x - 6y  2
 getting  2x   or  - 6y  1
14. i. Q
 ii. PQR  or RQP 1
 
15.      2

16. 1950 ml  2
 getting 1900 ml   or

  1.950  l 1

AnswerNo. Marks AnswerNo. Marks
Part  I 

17. 2x = 14  1
 x =  7  1
18. 24cm  8mm  2
  
19. i.   semi pure             ii.   pure 1
        1
20. 60 ÷ 20  1
 3cm   (cm is compulsory) 1
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Part  II

01.  a) (i) The shape of the figure exactly the 
   same as the original shape and 
   only the size different figure  2                
  (ii)  1cm    600cm  1
   1 : 600 2
  give 02 marks for correct answer
  (iii) getting 10m as 1cm  / 2.5 × 10 1

   25m  2
  give 02 marks for correct answer
 b& ^i& suitable scale 2 

  ^ii& filling the blanks correctly 2

  ^iii& 70 × 20   =    1400 m2   2
  ^iv& finding the perimeter according 
   to the scale. 2

         16

02.  (i)      1             
 (ii)     2
 (iii)    2

 ^iv&    1

 (v)    1 + 1
 (vi)    2
 (vii)     1 
     11

03. (i)   850" 400" 350 3
 (ii) coping the table 1

  For 2018 2
  For 2019 2

    (iii)  2400  2
    ^iv& Western 1
     11

05. a)  i)  c-centre 1

  ii) AB – diameter 1

  iii) AB= 12cm 2

   CD =6cm 1 
 b)  i)  No

  ii) 2023. 02. 25
       11
   2022. 02. 25 3
  iii) 45 - 20    =  25 days
   2023. 02. 25
    +         25
   2023. 03. 20 3
   (or getting date using other 
   correct method)

06. a) i. A (1, 5) 1

   C (4, 0) 1

  ii.   2

  iii.   2

  iv.   1

  v. Parallelogram 1

 b) i. hexagon

   ii) triangle

  iii) Heptagon 3

07. a) i.   1

     1

  ii.   1

     1

 b) i. P = 500 1
         ii) P - 500
    2 2

  iii) P - 500   = 750 2
    2 

          

  iv) 3700 - 500   = 1600 2
        2 

04. a) (i)   80%  2             

  (ii) 37.5% 2                  
  (iii) 108% 2 

 b&  ^i&     1
   
         (ii) 5 × 5 - 25 1+1
        (iii) 40 - 22 = 18 1
   22 :  18
   11 : 9 1
       11
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